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QUESTION 1
Which action occurs once an organization\\'s licensing expires?

A. Under the "Organization tab\\' the \\'License info\\' has a message that blinks yellow indicating your license has
expired

B. The organization loses all configuration and analytics information.
C. The organization is immediately shut down.
D. The organization enters a 30-day grace period to resolve the situation in order to return to compliance.

Correct Answer: D

QUESTION 2

Which statement correctly describes how Cisco Meraki devices behave should they be unable to contact the Meraki
Cloud server?

A. The network devices will attempt to establish a connection to a locally hosted database server that has been
configured for high availability.

B. The devices may be re-initiated into a backup mode if an administrator manually intervenes using a direct, local
connection.

C. The network stops passing traffic across all devices and the interfaces including any connected non-Cisco Meraki
devices.

D. The network devices continue to function normally (traffic lows at full rate) but management and configuration
functions are interrupted.

Correct Answer: D

QUESTION 3

What is one benefit of the Cisco 1100 ISR router over the 900 ISR router for mid-size organizations?
A. The 1100 ISR provides support for xXDSL types of WAN interfaces

B. The 1100 ISR is compatible with all Cisco switches.

C. The 1100 ISR provides APIC support.

D. The 1100 ISR includes built-in firewall and advanced QOS features.

Correct Answer: C

500-560 Study Guide | 500-560 Exam Questions | 500-560 Braindumps 2/3


https://www.passapply.com/500-560.html
https://www.passapply.com/500-560.html
https://www.passapply.com/500-560.html

VCE & PDF https://www.passapply.com/500-560.html
2024 Latest passapply 500-560 PDF and VCE dumps Download
PassApply.com

QUESTION 4

What is one capability of the Catalyst 9200 web user interface?
A. integrating with compatible Cisco routers

B. providing AMP support

C. opening a case with Cisco Technical Assistance Center

D. monitoring selected sections on the dashboard

Correct Answer: D

QUESTION 5

What is the key architectural component that allows Cisco Meraki\\'s datacenters to be fully HIPAA and PCI compliant?
A. non-existent command line interface

B. controller and server-free design

C. Layer 7 application fingerprinting

D. out-of-band control plane

Correct Answer: D
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